1.

R#ETAN XFA BREOEMR 01

ROFHEZE X, (S0, A5, B#15208, C#24)

(1) (4a+2)+2

(3) (162 +32)+4

(5)  (30a+100) =5

(1) (4a—6)=(=2)

(9) (122 +24) ~ (—6)

(2  (3r—12)=3

(4) (202 —8) = (-2)

(6)  (3b—3)=(-3)

(8)  (—2lx—14)=7

(10)  (3a+6)+9

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2.

ROGIHEZET L. (SHh40, A5, Bi145208, C#h247)

(1) (Ba+6)=2

(3) (202 +36) 4

(5)  (40a +90) + 5

(1) (10a —15) = (=5)

(9)  (18z + 36) = (—6)

(2 (4r-12)=4

(4) (162 —10) = (-2)

6)  (4b+4)=(-4)

(8)  (—28x—14)=7

(10)  (2a+6) <8

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

R&ETALN XFIN BREORRE 01 BEES

1. XOFEZEX. (S0P, AKs55%, B#k15208, Cc#H24y)

* HESR (A+B)+C:%+%
(YDHFD B+C DB & C ZVFHEIEIA A=,

(1) (4a+2)+2 (2)  (B3r—12)+3
=2a+1 =r—4
(3) (1624 32) 4 (4) (200 —8) =+ (-2)
=4x + 8 =—10x + 4
(5)  (30a +100) =5 6)  (3b—3)=(-3)
= 6a + 20 =—b+1
(1) (4a—6) = (-2) (8) (—2lz—14)=7
=—2a+3 =—-3r —2
(9) (122 +24) = (—6) (10)  (3a+6)+9
=2z —4 = %a + %
1 2
3T
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2.

ROGIHEZET L. (SHh40, A5, Bi145208, C#h247)

(1) (Ba+6)=2

=4a + 3

(3) (202 +36) <4

=5x+9

(5)  (40a +90) =5

= 8a + 18

(1) (10a — 15) = (—5)

=—2a+3

(9)  (18x +36) +~ (—6)

=—3z—6

(2 (4r-12)=4

=r—3

(4) (162 —10) = (-2)

=—-8x+5

(6)  (4b+4) = (—4)

——b—1

(8)  (—28z—14) =7

=—4xr —2

(10)  (2a+6) =8
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